061700 - KROMS 6 BP/N/R15-PILOT ® 061701 - KROMS 6 BP/P/R15-PILOT ® 061702 - KROMS 6 HP/P/R15-PILOT kmmS@Gﬂ@q@[ﬁ

# DESCRIPCION (ES) / DESCRIPTION (EN) / DESCRIPTION (FR) CODE
1 Pantalla / Canopy / Coupole 762311
2+3+4 |Accesorios conexion / Connection accessories / Accesoires connexion 762228
2 Tuerca / Nut / Ecrou 762252
2a  [Bobina/ Bobine / Bobbin 762229
3 |Boquilla/ Nozzle / Bec 050734
4 Junta / Joint / Jointe 061619
5 Anillo de retencion / Retaining ring / Anneau de rétention 762241
6 Filtro / Filter / Filtre 762242
X Conjunto regulacion 6000 HP/P +Inyector +R. Aire / Regulation set 6000 HP/P +Injector + Air R. / Ensemble de réglage 6000 HP/P +Inyector{ 069080
X Conjunto regulacién 6000 BP/P +Inyector / Regulation set 6000 BP/P +Injector / Ensemble de réglagen 6000 BP/P +Injecteur 069081

X Conjunto regulacién 6000 BP/P +Inyector +R. Aire / Regulation set 6000 BP/P + Injector +Air R. / Ensemble de réglage 6000 BP/P +Injecteur{ 49082
8 Bobina / Bobine / Bobin 761110
9 Tuerca grupo / Group nut / Ecrou groupe 762286
10  |Conjunto cono interiory junta 55mm (4u) / Set inner cone + joint 55mm (4u) / Ensemble de c6ne intérieur + planche 55m (4u) 069022
105 Junta @ 55 (4 uds) + Cono interior KROMS 5 (4 uds) / Joint @ 55 (4 pcs) + KROMS 5 inner cone (4 pcs) / Jointe @ 55 (4 un) + Céne intérieur 761086

i KROMS 5 (4 un)
10.7 |Cono interior KROMS 5/ KROMS 5 inner cone / Cone intérieur KROMS 5 761085
11 |Setinyectores KROMS 6 PILOT BP/N (5U) / Injectors set KROMS 6 PILOT BP/N (5U) / Set injecteur KROMS 6 PILOT BP/N (5U) 069054
11a [Tobera@0,77mm / Gas orifice @0,77mm / Orifice gaz g0,77mm 761523
11b  [Tobera @0,65mm / Gas orifice @0,65mm / Orifice gaz 80,65mm 760925
11c  [Tobera@0,47mm / Gas orifice @0,47mm / Orifice gaz g0,47mm

761763

12 Kit filtrante KROMS 5/6 / Filter kit KROMS 5/6 / Filtreur kit KROMS 5/6 069401
12a  |Filtro espuma KROMS S/E / Foam filter KROMS S/E / Filtre mousse KROMS S/E 762081
12b  |Cartucho filtrante KROMS 5/6/ Filter cartridge KROMS 5/6/ Cartouche filtrante KROMS 5/6 760007
13 Reductor fijo 754-B-2 A 370 MM/ Fixed redutor 754-B-2 A 370 MM/ Reducteur fixé 754-B-2 A 370 MM 030163
14 |Conjunto tubo piloto KROMS 6 niquelado / Set pilot tube KROMS 6 nickel / Set tube pilot KROMS 6 nickel 762216
15 Conjunto filtro piloto / Pilot filter set / Set filtre pilote 762204
16 Set inyectores KROMS 6 PILOT/ Injectors set KROMS 6 PILOT / Set injecteur KROMS 6 PILOT 069059
16a |Tobera@0,23mm / Injector 0,23mm / Injecteur g0,23mm / 6 HP/ 6 BP/P 762213
16b  [Tobera @0,34mm / Injector 0,34mm/ Injecteur g0,34mm 6 BP/N 761892
17 Conjunto piloto / Pilot set / Set pilote 762207
19 Placa fijacién piloto / Fixation pilot plate / Plat fixation pilote 762200
19a  |Tornillo chapa 79814,2X13ZN / Plate screw 7981 4,2X13ZN / Vis plaque 7981 4,2X13ZN 760225
20 Pletina quemadora 6 uias KROMS 6/ Burner platter 6 nails KROMS 6/ Brlleur pletine 6 clous KROMS 6 762222
20,5 [Tornillo M5/ M5 screw / M5 Vis 761613
20.6 [Tuerca M5/ M5 nut/ Ecrou M5 710130
20.7 [Casquillo KROMS 5/ KROMS 5 bushing / Cap KROMS 5 761729
30 Conjunto termo fijacion KROMS 6 PILOT (2 Unds) / Thermo fixation set KROMS 6 PILOT (Units) / Ensemble réglage fixation KROMS 6 (2 Un) 069047
30.5 [Termopar con fusible interno KROMS 6 / Thermocouple internal fuse KROMS 6 / Thermocouple KROMS 6 762291
30.7 [Tuerca exag.. M8 (11x4) / M8 (11x4) Nut / Ecrou M8 (11x4) 760328
32 [Conjunto cono exterior cerrado 6 PILOT / Outer cone closed set 6 PILOT / Ensemble de c6ne extérieur fermé 6 PILOT 762265
33  [Mosquetdn / Carabiner / Mosquet 762004

International Sales Department - KROMSCHROEDER 2016



